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y constant

Xn+1
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2y| — [+3]| —|=¢C
()%
yx>+y’=c

Which is required solution.

Problem -02

Solve (2ye** +2xcos y)dx + (e — x*sin y)dy = 0.
Solution:-

The given DE is (2ye™ +2xcos y)dx + (e* —x*siny)dy =0.  ----- ( \A
Equation (1) is of the form Mdx+Ndy=0 a\e _CLQ—EZ)
Comparing the above two equatioﬁ@‘;,@

M =2ye®™ + 2>‘(cos§% :ﬁ?@m O—‘ ’X_O
Differ aﬂs\\@p rtially=yyi ect to y (Assuming 'x' constant),
e WS

oM 0 o O
— =—2Yye”" +—2XC0sYy
o oy oy
M _ 2e% iy+2x£cosy
oy oy
aM:Ze“.H 2x(-siny) ( 0cos & = —asin axj
oy X
aM 2 -
—— =2 - 2xsiny ----(3)
oy
Differentiate N partially with respect to x (Assuming 'y’ constant),
we get
N _ 09 g y
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